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* b. Lowering their forecasts of costs. v
c. Lowering their aclual costs.

d. Increasing their forecast of cosls. ' \

The comrrect answers are: Lowering their forecasts of casls,, Increasing their forecast of cost

X
310,

Elton. Inc.. expects to sell 6,000 ceramic vases for $20 each. Direct materials casls are $2 direct manulo
and manufacturning overhead is $3 per vase. The following invenlory levels apply.lo 2021:

Direct materials: Beginning inventory 1,000 units, Ending inventory 1,000 Uniifs

Hnished goods inventary; Beginning inventory 400 units, Ending inventary 500 uniifs.

On the 2021 budgeted income statement

whal amount will be reported for cost of goods sold?
Select or
$91
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yoint for budaetin
The usual starting point for budage

selec! one:

* a. Therev




During February, how much will Cres Cmpony need fo borrow?

Select one:
a. $95,000

b. $10,000 ¢
c. $59.000
* d.$69,000 %
The comrect answer i5 ? 2.000
Managers can create budget slack by
Select one
Q. IncCreasing their actual level of sales
* b. lowering their forecasts of costs.
Lowenng their actual cosis.
d. InCre Qsing their forecast of el
Th f O y r'e 15
Fion Inc.. expocts o sel " : it $20 e malena 14ts are 32 direct manufaciunng K
and manuiaciunng vl 3 nadl { ! MRy A ¥ "I.

Dwect materols: Beginn
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How many units are targeted for ending finished goods inventory?
Select one:
Q. 32.000 units "
* . 8,000 units v

c. 12.000 units

d. 20,000 units

\_"-er'u ous [rollinal bu iaet:

;“;.;.—.‘ t one:

* a. b5 aplan thal s updoted monthly or quarterly. droppina one penod and adding another. v
| r r . r » v ' 2
t Prepao ] ] | al the budget can be adjusied for changes in aclivily.
£ I] ’ }v " : ! | 3
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The cormrect answer is: budgeted income statement

Crest Company must maintain a minimum cash balance of $24,000. At the beginning of Februa

balance was $60,000. The budget for February is as follows:

Total cash receipts $250,000
Cash payments fo suppliers $145,000
Cash payments to employees $120,000
Netincome $50,000

Purchase machinery by signing a nofe 535,000

Other cash payments 580,000

During February, how much will Crest Company need to borrow?

AL



Green Company's sales are on credil. 60% of credif sales are collected in the month of sale, 30% in
sale, and 10% is collected two months affer. Budgeled sales data is as follows:

June $200,000
July  $100,000
August $150,000

How much are Accounis Recelvable at the end of Augusi?

Select one:
a. $49.000

* b.$70,000 v
c. $21,000
cl. $147.000

Your answer s conect

The comect answer is: $70.000
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Green Company's sales are on credil. 60% of credit sales are collected in the monih of sale. 30% in the month followin
sale, and 10% s collected two months after. Budgeted sales data is as follows:
June $200,000

July  5100,000
August $150,000

How much are Accounts Receivable at the end of Augus!?

Select one:
o 0.$21.000
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I"fre Inc., estimates fhe following number of moﬂress
g.*.sales for the first four months of 2021: f

"""" ~ January 22,000
- February 30,800
March 28,600
April 35,200.

Finished goods inventory at the end of December is 6,600
units. Target ending finished goods inventory is 20% of the
next month’s sales.

How many matiresses need to be produced in January 20212

,,,,,

‘] Q. 28,460 matiresses
I8 'l:m 34, 160mcmresses
e 7 l,éé@maﬂresses
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Which of the following is a reason why
top managers want lower-level
managers to participate in the
?budgeting process

:Select one

a. To benefit from their experience O

with the day-to-day aspects of
running the business

b. To ensure that they do not O
Introduce any budgetary slack

c. To reduce the time and cost O
expended in the budgeting process.

d. To ensure that the budgets are O
administered rigidly given the
.changing market conditions



Esther Baskets Company expects 1o manufaciure and sell 20,000 elsin

2021 for $5 each.

T ere ark 4,000 baskets in beginnin
ending inventory of 5,000 baskels.
k-in-process inventory. Whal amou
2021 budgeted income state

g finished goods inventory

The company keeps nNo wor
revenue will be reported on the




/\ﬂfl\:]l e Brass C ompany has t ."‘j;-;.-h d saies volume of 120.000 unils and bud _,(ff( 19 !;,'4_.'j¢ ichion of 108.000

units are in beginning finished goods inventory

HOW many units are 1araeted lor endir q hinished goods invenlorve

Select one:

. 12.000 unit
£
{. 20.000 urnits

(roling | DUuGoe!



Antique Brass Company has
budgeted sales volume of 120,000
units and budgeted production of
108,000 units, while 20,000 units are
in beginning finished goods
inventory.

How many units are targeted for
ending finished goods inventory?

Select one:
a. 32,000 units

b. 12,000 units
c. 20,000 units
d. 8,000 units



Antique Brass Company has
budgeted sales volume of 120,000
units and budgeted production of
108,000 units, while 20,000 units are
in beginning finished goods
inventory.

How many units are targeted for
ending finished goods inventory?

Select one;
a. 32,000 units

b. 12,000 units
c. 20,000 units
d. 8,000 units



:Continuous (rolling) budget

‘Select one

a. Is prepared for a range of O
activity so that the budget can be
.adjusted for changes in activity

b. Is used in companies that O
.experience no change in sales

c. Is a plan that is updated monthly O
or quarterly, dropping one period
.and adding another

d. Is a strategic plan that does not O
.change



?What is the correct order

:Select one

a. Revenues budget, Direct O
materials costs budget, Cost of
goods sold budget, Budgeted
income statement

b. Cost of goods sold budget, O
Revenues budget, Direct materials
costs budget, Budgeted income
statement

c. Revenues budget, Cost of O
goods sold budget, Direct materials
costs budget, Budgeted income
statement

d. Cost of goods sold budget, O
Direct materials costs budget,
Budgeted income statement,
Revenues budget



Question 1

Not yet answered
Marked out of 1.00

V" Flag question

Which of the following is a financial
budget?

Select one:

a. budgeted balance sheet
b. production budget
c. income statement budget

d. cost of goods sold budget



- E gt ifmdntalns glass on hand equal to 40% of the following moM!I’s nticipat
- costs $3 per square foot.

At the beginning of January, only 500 square feet of glass Is on hand.
How many square feet of glass should Bright plan to buy in February?

Select one:
Q© a. 2,200 square feet

© b. 8,800 square feet
© c¢. 11,040 square feet
© d. 5,440 square feet
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Elton, Inc., expects to sell 6,000 ceramic vases for $20
manufacturing labor is $10, and manufacturing overhead
levels apply to 2021: ;

= i -

Direct materials: Beginning inventory 1,000 units, Ending Inve'ﬁ'f y 1,00
Finished goods inventory: Beginning inventory 400 units, Ending in:

On the 2021 budgeted income statement, what amount will be reg

Select one:
) a. $20,000

b. $88,500
' ¢. $105,000
d. $91,500



Antique Brass Company has
budgeted sales volume of 120,000
units and budgeted production of
108,000 units, while 20,000 units are
in beginning finished goods
inventory.

How many units are targeted for
ending finished goods inventory?

Select one:
a. 32,000 units

b. 12,000 units
c. 20,000 units
d. 8,000 units



~ Which of the following statements is frue of budgets?

Select one:
O a. Financial budgets are working documents at the core of the budgeting proces:
U b. Operating budgets are prepared independently of the master budget.
U c. Master budgets express management’s operating and financial plans
v d. Anancial budgets are prepared before the master budget is preparec
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Question 6
Not yet answered

Marked out of 1.00

" Flag question

The number of units in the sales budget and
the production budget may differ because of
a change in

Select one:
O a. finished goods inventory levels

O b. sales returns and allowances
O c. direct material inventory levels

O d. overhead charges

Previous page Next page

4 Chapter 7 Lecture 1
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Green Company's sales are on credit. 60% of credit sales are collected in
\he month of sale, 30% in the month following the sale, and 10% is collected
two monihs after. Budgeted sales data is as follows:

June $200,000
Jjuly  $100,000
August $150,000

How much are Accounts Recelvable at the end of August?

Se\ec! one: ' gt -
a. $70.000 e Sy b
b. $49.000 G e |




variable cost per unit, and total fixed costs

are known and
constant.

Question 13

Complete
Marked out of 1.00

" Flag question

If the selling price per unit is $20 and the
contribution margin percentage is 30%, then
the variable cost per unit must be $14.

Select one:
) True

O False

The correct answer is 'True'.



® Answer and Explanation:
Answer: A. decrease by $31,875

If the sales volume decreases by 25%, the variable
cost per unit increases by 15% and all other factors
remain the same, then the net operating income
will be as follows:

Sales (3,000 units * 75%) £420
units
Sales price i:\i Per
Total sales $157,500
tisitS;)TOtal variable cost ($50 * 115% * 2,250 §129 375
Less: Total Fixed cost $25,000
Net operating income, new $3,125
Compare to : Original operating income
Sales (3,000 units @ $70) $210,000
Less: Total variable cost ($50 * 3,000 units) $150,000
Less: Total Fixed cost $25,000
Original operating income $35,000
Increase (Decrease) in operating income ($31,875)




A company has provided the following data:

L RSO 3,000  units
Sales price .....ccovenens $70  per unit
Variable cost ............ $50  per unit
Fixed cost ......ccocuvrane $25,000

If the sales volume decreases by 25%, the
variable cost per unit increases by 15%, and
all other factors remain the same, net
operating income will:

Select one:

P

() a. decrease by $3,125.
© b. decrease by $31,875.

() c. decrease by $15,000.
() d. increase by $20,625.

The correct answer is: decrease by $31,875.
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Complete
Marked out of 1.00

V" Flag question

Tally Corp. sells softwares during the
recruiting seasons. During the current
year, 11,000 softwares were sold resulting
in $440,000 of sales revenue, $110,000 of
variable costs, and $48,000 of fixed costs.

Contribution margin per software is

Select one:
() a. $36

O b. $30
O c. $10
) d. $40

The correct answer is: $30



Question 2

Complete
Marked out of 1.00

Vv Flag question

Focusing on target net income rather than
operating income will not affect the
breakeven point.

Select one:
O True

_ ) False

The correct answer is 'True'.



Sea Enterprises sells a single product for
$25. The variable expense per unit is $15
and the fixed expense per unit is $5 at the
current level of sales. The company's net
operating income will increase by ---------- If
one more unit is sold.

Select one:

O a. $25
O b. $10
() c.$5

© d. No enough information

The correct answer is: $10



